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3.1 ��������
��
�� (The nature of light) 
 
 ��ก��3�ก����'+�������+�ก�+��ก#��
� /#	��/4���/2�����522��#� �����67%/#	�
��/*-��
����������+�1%�8*�����'+���
�9�%/4�� : �ก/#���4��9�%�#���	 
 �; $.3.1660 �*�/#� /#	���������@�$ (��ก�4���4��
���,����@�$��+�7ก
4���ก2�ก
/%�ก
���*��
� ���@�$�&�4���	�$�'+����+��,��
%�/��
���������64���#/��(��4��
 ���
��%��2�ก
�#/������
�9�%��'+��
�
��%����%�
74/��
� �&%�ก*�$����7%
�ก��ก������&A� 
 �; $.3.1680 C���ก�
" /#	�������ก�+��ก#��
��4� �
���,�$�'+� (��
������8*���
ก��
��%�� ���ก��&#ก�&����
�9�% �/49�4
������
���4��
���ก�����	�����9�%�����$�'+��
�
2���#�9�4��,���+����#� 
 �; $.3.1801 (��#
 �#� 9�%�
� ก��������ก�+��ก#�ก�����ก
�����ก�����	�����
����
� (��
������#�$���������$�'+��
�9�% �
��&%�������+�4��
���,����@�$&��9� 
 �; $.3.1873 ��Aก0"����" 9�%�
���&%�&A��4���'+����2�9..E��$�'+����+���               
0*���F�C��"���*ก2��64$�'+���4�&�Aก9..E���ก�� ���)��4��#/����A����$�'+���4�&�Aก9..E���$4�
�ก�%�$���ก#��#/����A�����
�2����,�ก��
�#�
����4��
���,�$�'+���4�&�Aก9..E� 
 �; $.3.1954 9��"
9/�" 9�%�
���4� �
���,����@�$ 0�+����@�$����
�กA$'� ก��4�ก%��
���)�#������+����ก�4� (./�� (Photon) ����������(./����	���74ก#�$4�$�����+����
� 0�+�
�/ก/4��2�ก���������*�/#� 
 �522��#� ����1'+��4��#	�������
���,�$�'+����������
���,�(./�� 
������
�9�
�8*������กPก��!"����
�9�%��
���ก��!"��+/4�� : ก#� �
���&%�&A��4� �
����)�/*/#���,�9�%
�#	�$�'+�������@�$ ����ก�4� 
��#/*$74����
� &�'���*@�)����
� �/42��
��@�)$�����,�$�'+�
&�'����@�$�)�����4��&��+���4����@���/%
@��ก��!"&��+���4��#	� �14� $��$���&%�
�$4�� : 64��
14����Aก���������+�� �
�2��
��@�)��,����@�$ ��'+��
���,�$�'+���'+��2�ก�
�
������
��
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��#/*��+

�$#Q���$�'+� $'� ก�����ก
�����ก�����	����� ���9����
��#/*��+�
���4��
���,�
$�'+�/������ $'� ()��9��00#�0�+���,�2��ก
���*�/%��������ก�!"�#�����
���+�1%��,����ก�!"&�#ก
����$�*$(.(/����
/*ก0*/�	 
 
3.2 ���/�0�1�2
�� (Wave theory of light) 
  
 2�กก����+��Aก0"����"�
��
��9�%
���9�%�4��
� &������ $�'+���4�&�Aก9..E���+
���ก���%��
�����4�&�Aก���
���9..E���+/#	�R�ก0�+�ก#����ก#� �$�'+����+9�)�%��ก#� (��
�*3���ก���$�'+����+���$�'+�/#	�R�กก#��*3������
����#	�
�� [19] 
 

 
 

@�)��+ 3.1 
�
���#ก�!����$�'+���4�&�Aก9..E� 

http://www.goiit.com/posts/show/133878.htm 
 

�#ก�!�$�����,�$�'+�����
�����9�%�%��
��#/*��4������4��&��+��� 3 ��4�� ก�4��$'�              
 $������$�'+� (λ ): ������&�4�����$�'+� (crest) ��+��74/*�ก#� �#���&�4��$���
��� �14� ��/� �0�/*��/� ��,�/%� 
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 $�����+$�'+� (f): 2
����ก��
#+�9&����$�'+� &�'� 2
�����7ก$�'+�/4��*���� �#���
&�4�� cm-1 (Hz) 
 $�����A�$�'+� (c): ��$���
#�)#�8"ก#�$������$�'+����$�����+$�'+��#�
�ก��       
��+ (3.1) 
 
 λ f = c                                                                                    (3.1) 
 
 ก�!����$�'+��
� $�����A��
� c = 3x108 ��/�/4��*���� 0�+���,�$4�$���+ �#��#	� 
$�'+���4�&�Aก9..E���+��$������$�'+�
#	� 2���$�����+$�'+�
7� $�'+���+��$������$�'+����2���
$�����+/+
� $�'+���4�&�Aก9..E���ก1�*� 9�4�4�2���,�$�'+��*��� 9�($���) �*�.����� 
�#�/��9�(���/ �#�
���Aก0" �#�
��ก��� f�f �$�'+����+�%��$�����A���4�ก#�&�� $'� $�����A��
� 
��%�4�$�'+��/4��1�*��#�ก�4��2���)�#����9�4��4�ก#� 
 

 
 

@�)��+ 3.2  

��ก/�#����$�'+���4�&�Aก9..E� 
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 �
�(���#+�9���+�����"
���������&A�9�%��74��14�� 400 ��� 700 ��(���/� (����+
$������$�'+�/4��ก#�2��
��&%�ก*��R�
���+�/ก/4��ก#�/��/������+ 3.1 0�+�����ก�4� �
�
���� 
(White light) (���
���+��$������$�'+����������ก�4� �
�
������ (Monochromatic light)  
 

/������+ 3.1 
�
��
��ก/�#�����
���+
���������&A��%��/����4� 

 

 
                             ��+�� : &�#�
'� Experimental stress analysis ��� James W.Dally 
 
 
��#/*$�����,�$�'+�����
�9�%�#�ก���'��#�2�กก��������ก�+��ก#�ก��
��%�� 
ก��&#ก�& ก�����	����� ���ก�����ก
���4�����742�*����
�����$
���!6��#)8"9�%��4���7ก/%�� 
�14� ก��������&%�
�64��14����Aก������$74������#
 �#� ���; $.3.1801 )��4���ก�����ก
��
���$�'+��
�2�ก�
%�
�4������'�
�#�ก#���4��1#��2�$�'+���4�&�Aก9..E�1�*���ก��+�7ก$%�)� $'� 
$�'+��*��� )�(�� 9C�"�*1 �C/0" ��&%���������+����"�*����; 1888 
 ก����������กPก��!"ก�����ก
������
�(���&%�
�
������64��14���$������
(Slit) ��%����	�����/ก����14���$�$74 (Double Slit) 14���$� S1 ��� S2 �
�&�%���+�
�'����,�
�&�4�ก
���*�$�'+���)#�8" ��'+�$�'+��
��$�'+����+64�� ��*����9�)�ก#�2��
��&%�ก*�ก�����ก
��
ก#��#	����#ก�!��
�*����&#ก�%��ก#�(�����กP@�)ก�����ก
����R�ก��,����
�4��������
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�'� �#��#	��%��&%�
�
������$������$�'+� λ �$�'+����+64��14���$����+�� ��%����	�����/ก����
14���$� S1 ��� S2 0�+�&4��ก#� d $�'+���+��ก2�ก S1 ��� S2 ��)�ก#���R�ก��+2�� P 0�+�&4��
2�ก S1 ��� S2 ��,����� r1 ��� r2 /���
��#� �#�@�)��+ 3.3 
 

 
 

@�)��+ 3.3 
$.3.1801 (��#
 $%�)�ก�����ก
������
�64��
�*/$74 

 
3.3 067���8���9��: 
��0�1�2
�� 
 
 �
�  ��,�$�'+���4�&�Aก9..E� 
������$�'+����+9�%(��9�4/%����3#�/#�ก��� �����
ก���$�'+����+����
%�/����/#�ก���1�*�&��+� :  2��$�'+����+64��/#�ก����/4��1�*��%��$�����A�
9�4��4�ก#�  /#�ก�������$���&����4���ก�
�2��$�'+����+64��/#�ก����#	� �%��$�����A�/+
� 

�#/����A�����
�2���$4���ก��+
����
�QQ�ก�3 $'� 3 x 108 m/s (&���$����4������� 1 �*���� 

�
���*����9�%��,�������� 3 x 108 ��/�) ��'+����
��
�/กก����6*��#/��2��
��&%�ก*�
���กPก��!" ��	� 2 ��4�� $'� 
      1. ก��
��%������
� 
      2. ก��&#ก�&����
� 
 
 
 
 
 

d 

P 

S2 

S1 

S0 

D

y 

O

r2 

r1 
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 3.3.1  ก�����;�2
�� (Reflection) 
�� ก��>8ก?>
��
�� (Refraction) 
  �
���+�$�'+����+64��/#�ก���&��+�0�+�����'	������ก#� $�����A�����
�2�$���+ 
�/4�%��
���+�$�'+����+2�ก/#�ก���&��+�9��#���ก/#�ก���&��+�$�����A�����
�2�����+��9���+6*�
���/4����/#�ก����#	�
�� 
  2�ก$���
#�)#�8"���$�����A� $�����+ ���$������$�'+� ��+�4� $�����A���
$4���4�ก#� $�����+$7!ก#�$������$�'+�/��
�ก����+ 3.1 R��#	����!���+�
��$�'+����+�%��
$�����A�&��+���%�����/#�ก�����ก $�����+&�'�$������14��$�'+��#	�2���$4�$���+$4�&��+� �/4�%�
$�����A�����
�������'+��$�'+����+64����%�����/#�ก�����ก1�*�&��+� $������14��$�'+�����
�
�#	�2����� ก������+���������$�����A���	��	���74ก#��#1��ก��&#ก�& n  ���/#�ก�����+�$�'+����+
64�� (���#1��&#ก�&����
���+�$�'+����+����ก�3�*
����$4� 1.0003n =  ��/#�ก�����+��,�����&��
��74��14�� 1.3 ��� 1.5 (

�&�#��	
� 1.33n = ) �����/#�ก�����+��,������A���74��14�� 1.4 ��� 1.8 
(

�&�#��ก%� 1.5n = )  
  ��/#�ก�����ก)#�8" �
�2���$�����A���4�ก#���ก2�� ��ก�*3��� $�����A����
$�'+���ก1�*���	�ก#�/#�ก�����+�$�'+����+64�� ก����+$�����A����$�'+���	�ก#�
��#/*���/#�ก��� �
��&%
�ก*����กPก��!"
��%�����&#ก�&0�+��ก*���	���'+�$�'+�64��/#�ก�����+����+��9� ���$�����A����
$�'+�กA2�����+��9��%�� $�'+�
��%��0�+���,�$�'+��&�42�
��%��ก�#���/#�ก�����*� 
4��$�'+�&#ก�&
2�64��/#�ก�����+��74/*�ก#� )�#�������$�'+���+/กก������4�9���&�4��$�'+�
��%��   ���$�'+�
&#ก�& $�'+�
��%��2���)�#������กก�4��14���$�'+�
��%����+6*�ก��2ก ��ก�!��'+�$�'+�&#ก�&��2��
)�#������กก�4� 
  ��'+��
���*����64��/#�ก���(��4��
���+��$4��#1��ก��&#ก�&/4��ก#� 2��
��&%
�ก*�ก��
��%�����ก��&#ก�&��	� �#��
����@�)��+ 3.4 (��$�'+�/กก�������$�'+�
��%��2��
�
���ก#�����ก��ก/* ����ก�4� �����/กก���� 0�+� A  $'������+$�'+�/กก���� B  $'�������$�'+�

��%�� ��� γ  $'�������$�'+�&#ก�& 
  

�&�#� ก��
��%������
�      
  
  A B=                                                                                       (3.2) 
  
  

�&�#� ก��&#ก�&����
� 
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  2
21

1

sin

sin

nA
n

nγ
= =     (3.3) 

 
  ��'+�  1n  $'� �#1��ก��&#ก�&����#
����+ 1 
    2n  $'� �#1��ก��&#ก�&����#
����+ 2 
    21n  $'� �#1��ก��&#ก�&����#
����+ 2 ��+�ก�+���%��ก#��#
����+ 1 
 

 
 

@�)��+ 3.4 
�
��ก��
��%�����ก��&#ก�&���$�'+��
�64��/#�ก��� 2 1�*� 

 
 3.3.2  ก��
��ก��@ (Interference) 
�� ก��?���BC?�2 (Diffraction) 
  $�'+��
�
��$�'+��$�'+����+9�)�%�� : ก#����ก#���%�
�4����ก��	���,���+
��%��2���
#��ก/�&A�ก#������กPก��!"��+�ก*���	���8���1�/* �/4�#���ก��������$�'+��
�
��
$�'+���	����ก�#ก�!�&��+�0�+��7�&�'��9�4�4�2��ก*���	�9�%  $'� ���ก#���%��'�
�*� $�'+�
��$�'+���+
���ก#���%�ก4��&%�ก*�ก���'�
�*�9�%กA/4���'+�  $�'+�
��$�'+��#	��&�'��ก#���ก���ก���$�'+����+9�
�%��ก#��%���.
/���%��ก#� �/4�%�$�'+��#	�
�����.
9�4/���%��ก#��������&�'�9�4�&�'��ก#�������� 
���
4�����$�'+�2��7ก&#ก�%��9� ���
4��กA2��
�*�0�+�ก#����ก#� 2��9�4�'�
�*�&�'�
�4����ก��+
�� 

 

�ก��ก/* 
$�'+�&#ก�& 

$�'+�/กก���� $�'+�
��%�� 

�#
����+ 1 
�#
����+ 2 

&�%�$�'+� A  B 

γ 
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  ก��������$�'+�/#	��/4
��$�'+���	�9��$�'+����+9�)�%�� : ก#����9��*3���
�����ก#� 0�+���6��
��&%�ก*�ก��&#ก�%��&�'�ก���
�*�ก#����$�'+� ����ก�4� ก�����ก
��  
(Interference) 

 

 
 

@�)��+ 3.5 
�
��ก�����ก
������
� 

http://misclab.umeoce.maine.edu/boss/classes/SMS_491_2003/Week_9.htm 
 
  �
���*�����%��&�%�$�'+���+��,��������ก����64��14���$� �
���+64��
��ก��2����#ก�!�&�%�$�'+���,���ก�� �#ก�!������	������4�ก�����	���������
��#��
����
@�)��+ 3.6   
 

 
 

@�)��+ 3.6 
�
���#ก�!�ก�����	�����64��14���$����+�� 

http://irrigation.rid.go.th/rid17/Myweb/machanical/commu/vorapot1.html 
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4����กก�����	���������
�2��ก*�)�%��ก#�ก�����ก
������
� �
��&%
�ก*�����'�������
�4����R�ก�#�@�) 0�+�2���$�����%��
���ก��+
����+2��ก�+�ก���R�ก�#��
� 
(���!���+$�'+��
�
��$�'+�ก����R�ก���.
��+�&�'��ก#� 2��ก*���,����
�4�� &�ก�.
�/ก/4��
ก#� 2��&A���,�����'� (����+&�ก�.
�/ก/4��ก#���Aก�%��2��&A���,��#ก�!����: ��	���74ก#�
�#ก�!����$�'+��
���+ก����R�ก��,�&�#ก �#��
����@�)��+ 3.7 ก�����ก
�����ก��
���	������#	��#��1%�#�$������$�'+�9�%9�4��4��
��#ก ���
�4����+9�%9�4$�1#�����$�)���+2���ก
/
��&�4�������9�%��4��� �%�/%��ก���&%���$�1#�����$��)���)�2�/%���1%���ก�!" �ก�//*�
���	�����14�� 
 

 
 

@�)��+ 3.7 
ก���ก*����กPก��!"ก�����ก
��������	������
��&%�ก*�����'����
�4����+R�ก�#��
� 

http://www.britannica.com/EBchecked/topic-art/290177/91987/Single-slit-diffraction-
When-monochromatic-light-passing-through-a-single 

 
3.4 �F��G�?��82
��
�� (Polarization of light) 
 

 2�ก���กPก��!"ก�����ก
�����ก�����	������
��&%
���9�%�4� �
���,�$�'+� �/4
�#�9�4
���������9�%�4���,�$�'+�/������&�'�$�'+�/����� ���กPก��!"()��9��01#� 2�)*
72�"
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9�%�4��
���,�$�'+�/������&�'�$�'+�/����� ��'+��2�ก$�'+�/�����2�9�4�ก*����กPก��!"      
()��9��01#� 
 �
���+ก��2����ก��2�ก�&�4�ก
���*��
�8����� : 9�4��,� ()��9��01#� �)����4� 
��/�����(���ก������&�4�ก
���*��
�
#+���4���*
��9���ก�*3���9�4��	��ก4ก#� $�'+��
���+9�4��,�
()��9��01#� 2�����ก���%��$�'+���+ก��2����ก9���ก�*3���9�4��$����ก�+���%��ก#����ก��
�$�'+����+���$�'+� /������"9�4
�������ก$����/ก/4����&�4���
�()��9�0"ก#��
�9�4()��9�0" 
/%���1%���ก�!"��4���'+�14�� @�)��+ 3.8 ��+�
��$����/ก/4������
���+9�4��,�()��9��01#�ก#�
�
���+��,�()��9��01#� 
  

              
                                   (ก)                                                                (�) 
 
 (ก) �
����ก�/��"���
���9..E�����
���+9�4��,�()��9�0" 
 (�) �
����ก�/��"���
���9..E�����
���+��,�()��9�0" 
 

@�)��+ 3.8 
�
��ก���������������ก�/��"���
���9..E�����
� 

 
 �
�9.2�ก���9.�#+� : 9���	 
������
��&%��,� ()��9��01#�(���
��&%�
�0�+���ก��

#+��7ก2
�ก#����&%�&�'��)�����������0�+�/#	�R�กก#����ก���$�'+����+���$�'+� ก����4���&%�
�9.
��	64���#/�������4�� �14� 6��ก ���90/" 6��ก Tourmaline &�'��64�()������" (Polaroid) �#�@�)
��+ 3.9 
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@�)��+ 3.9 

ก���
�()��9�0"�01#+����$�'+��
� �
�
����2�ก&���9.8����� 
http://commons.wikimedia.org/wiki/File:Wire-grid-polarizer.svg 

 
 6��ก9�($��*ก(dichroic) $'�6��ก��+��
��#/*��ก���7�ก�'��
���+����ก�/��"���

���9..E����*3���&��+���กก�4���ก�*3���&��+� 9�%�ก4 �#��"����� ( tourmaline) ��'+��&%�
�9�4
()��9�0" 64��6��ก�#��"����� �
���+����ก�/��"���
���9..E����*3���&��+�2��7ก�7�ก�'�
��กก�4��
���+��
4�����ก�������ก�/��"
���9..E���74���*3�����+/#	�R�กก#� �#��#	� �%�6��ก��
$���&��)� �
���+64����ก9�2�����ก�/��"
���9..E���74���*3����� $'� ��,��
�()��9�0"  �%�
���6��ก�#��"����� ��ก�#�&��+��&%����ก#��#���ก �
�2�64��9�9�% �/4�%����6��ก�#��"�������ก
�#�&��+��&%�ก�/#	�R�กก#��#���ก �
�2�9�464���#�@�)��+ 3.10 
 

 
 

@�)��+ 3.10 
�
���#ก�!�ก���ก*�@�)2�กก������64��#��"��������*3���/4��: 
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 3.4.1  J���B�2K
��
���F��G��K 
  1.  �*�$���&"$����$%����#
��(���*8����()(/����
/*ก0*/�	 
   �#
��(��4��
���1�*��14� �ก%� )��
/*ก �%��7ก����#�&�'�������2��
��&%
�
�64��9�9�%��ก�%���%���%���/4��2��9�4��4�ก#� �
��&%����&A���,��*	� 2�ก�*	��&�4���	�
��&%����
9�%�4�
4��������#/��9�%�#����ก���
���ก 
4��������#/��9�%�#����ก���
��%�� �ก%���+2��
�9��1%
�
���,��#3�7�ก�!" 2��/%��/��2�7��&�4��/#��
��
�()��9�0"ก#�/#��*�$���&"�
��ก4�� 
  2.  �#�$�����%��%����
������� 
   �$�'+���'�1�*�&��+�
�%����	��)'+��#�ก���*�9�������������
�()��9�0"
��'+��2�ก
�����������ก�4�()���*�*�/��" (Polarimeter) �$�'+���'����ก���%���
�
������ /#��
�
�
�()��9�0" &����ก%��
4
������� ���/#��*�$���&"0�+�&���9�%����ก���+�
�64�� ��ก��
�P*�#/*�!���+�#��*9�%�
4
�������/%��&���/#��*�$���&"�&%�
�64��9�%��ก��+
�� �4�������+/#�
�*�$���&"9�% 2�ก�#	��
4
���������9� ��%���#�/#��*�$���&"�&�4�&%�
�64��9�%��ก��+
��
�&�'����*� �4�������+/#��*�$���&"��ก$�#	�&��+� 6�/4���������#	�
��$�#	�กA2���,������+��������
�
�()��9�0"�7ก�*�9� �����	��,��P*@�$(��/��ก#���%��%����
������� 
 
3.5 ?0�1����1�C8@���
��  �F������0� (Polariscope) 
 

()���*
($���,��$�'+���'��#�����
�  �)'+�&��#ก�!�ก��ก��2��$����$%����#/��
(��4��
  0�+���+�1%��74
4���&Q4�� 2 1�*� $'� ()���*
($��������� 0�+�2����64�()��9��0��"���
�����14���&%�ก*�$�'+��
�  ���()���*
($������ก�� ����������/4��:2�9�%�8*���/4�9� 
 
 3.5.1  
O92�F��G�?���K
����2��>�1�?���?�;2 (Plane or Linear Polarizer) 
  ��,��64���+����&%�
�64��9�%�������� $'� �����+����ก#��ก�()��9��01#� 
(Axis of polarization) ��@�)��+ 3.11 $�'+��
� E ��+��ก�����64�()��9��0��"����
����ก#��ก�
()��9��01#� 
�������4�$�'+��
���ก��,�
��
4����+/#	�R�กก#� $'� Et ��� Ea (�� Et 2�����
ก#�����ก�()��9��01#� ���
�����64��()��9��01#�9�% 
4�� Ea 2�/#	�R�กก#��ก�()��9��01#� 
0�+�2��7ก�7�0#����9�4
�����64���64�()��9��0��"9�9�% 
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@�)��+ 3.11 
$�!
��#/*����64�()��9��0��"�������� 

 
  �%��&%�64�()��9��0��"��74��+/
��&�4� z0 2�9�%
�ก��ก���$�'+����+��ก���#���	 

 

  ( )ctzaE −= 0

2
cos

λ

π                  (3.4) 

 
  �.
��*+�/%����$�'+����/
��&�4�����64�()��9��0��"9�4��6�/4�ก��$
���!
/4�9� 2�����*	� �
��&%9�% 
 
  ( ) taftaE ωπ cos2cos ==                    (3.5) 

 
  ���
�����&���ก�/��"���$�'+��
�/������������/#	�R�กก#�����ก�
()��9�0"�01#�  �#���	 

 
  cos costE a tω α=                                       (3.6) 
  cos sinaE a tω α=                                     (3.7) 
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 3.5.2  
O920�1�2 (Wave plate)  
  �64�$�'+�
�������ก��ก�/��"$�'+��
���ก��,� 2 
4����+/#	�R�กก#� ����&%
��ก�/��"��$"���ก��64��9��%��$�����A���+�/ก/4��ก#�  0�+�$�!
��#/*��	�7ก����ก�4� ก��&#ก�&
��
��� (Birefringence &�'� doubly refracting) �#��
����@�)��+ 3.12 �64�&#ก�&
�����2����ก�
&�#ก��74 2 �ก� $'� �ก� 1 2�����&%�
�64��/������ก��%��$�����A� c1 
4���ก� 2 2�����&%
�
�64���%��$�����A� c2 �%�&�ก c1 ��$4���กก�4� c22�����ก�ก� 1 �4��ก���A� (fast axis) 
4��
�ก� 2 2�����ก�4� �ก�1%� (slow axis) 
 

 
 

@�)��+ 3.12 
�
���
�()��9�0"64���64�ก��&#ก�&
���ก� 

 
  &�ก�64�&#ก�&
�����9�%�#�$�'+��
���+
4�64����2�ก�64�()��9��0��"���
����� ����
����ก#��ก� 1 ��4�ก#�  2�&���ก�/��"���$�'+��
���+64���64�&#ก�&
�����9�%�#���	 
 
  βωβωαβ coscoscoscoscoscos1 tktaEE tt ===              (3.8) 
  2 sin cos cos sin cos sint tE E a t k tβ α ω β ω β= = =                  (3.9) 

 
  ��'+� αcosak =  ��� ��ก�/��"����
��$�'+����+64���%��$�����A���+
�/ก/4��ก#� ��������+�/ก/4��ก#��%�� 
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 3.5.3  �F������0�
����2�� (Plane Polariscope) 
  ��,����ก�!"�#�����
���4 ���4 ����+ �1% �� ��$�*$(.(/����
/*ก0*/�	 
���ก���%�� �64�()��9��01#��������� 2 �64� ����&�4�ก
���*��
� (���64�()��9��01#�
����������+��74�ก�%�&�4�ก
���*��
�����ก�4� ()��9��0��" (Polarizer) ���!���+�64�()��9��01#�
����������+�&�'�����ก�4� ���9��0��" (Analyzer) �#�@�)��+ 3.13 (����'+�&����ก����9��0��"
�&%/#	�R�กก#��ก����()��9��0��"2��
��&%9�4���
����64����ก��9�% @�)��+�ก*���	�2��
�����
�'��&%�&A� 0�+�
������
��64�(.(/����
/*ก ��+/%��ก���#�����
������&�4���64�()��9��01#��#	� 

�� 2����กP���
���	�0�+�
������
�9��1%��ก��$
���!9�% 
 

 
 

@�)��+ 3.13 
()���*
($��������� 

 
 3.5.4  �F������0�
��C�ก�� (Circular Polariscope) 
  ��,����ก�!"�#�����
���+�1%�
�()��9�0"�����ก�� ���ก���%�� �64�    
()��9��01#� 4 �64� ����&�4�ก
���*��
� �#��
����@�)��+ 3.14  
  �64�()��9��01#�����������+��74�ก�%ก#��&�4�ก
���*��
�$'� ()��9��0��" ��+
��,�/#�����$�'+��
�8�������,��
�9)��9��01#� �#���$'��64�$�'+�&�'��64��$���/��"��. 

Polarizer 

Analyzer 

Axis of 
polarization 

Specimen 

Light 
source 

Axis of 
polarization 
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(Quarter-wave plate) ��+/#	�$4���� 
4

π
β =  ก#�����ก����()��9��01#� �64�$�'+���	�����+��,�/#�

�����&%�
�()��9�0"������������,��
�()��9�0"�����ก�� 
4���64�$�'+��#��#����&%/#�$4�
�ก���A� (Fast axis) �&%����ก#� �ก�1%� (Slow axis) ����64�$�'+��#���ก (First quarter-wave 
plate) 0�+��64�$�'+��#���+
�� (Second quarter-wave plate) ��	2��
�&�%���+ก�#�ก#��64�$�'+��#�
��ก$'������
�()��9�0"�����ก��ก#���,��
�()��9�0"���������&�'����*� ����64�

���%��$'��64� ���9��0��" 0�+�ก���ก*�����'�&�'�
�4����$���
#�)#�8"ก#�ก��2#������/#�����64�
()��9��01#� �#	� 4 �64� /��/������+ 3.2 ��+�
���7����$���)#�8"���()���*
($������ก�� 
 
 

 
 

@�)��+ 3.14 
�
��ก��2#������/#����7���� A ���()���*
($������ก�� 

 
 
 
 
 
 
 

Polarizer 

Analyzer Axis of  
Polarization 

Specimen 

Light source 

First quarter-wave plate 

Fast axis Slow axis 

Fast axis Slow axis 

Second quarter-wave plate 

Axis of  
Polarization 
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/������+ 3.2 
6��#)8" 4 �7����ก�������/#�������ก�!"()���*
($������ก�� 

 

�RJ
�� Quarter-wave plates Polarizer and analyzer Field 

A /#	�R�กก#� /#	�R�กก#� �'� 

B /#	�R�กก#� ����ก#� 
�4�� 

C ����ก#� /#	�R�กก#� 
�4�� 

D ����ก#� ����ก#� �'� 

��+�� : &�#�
'� Experimental stress analysis ��� James W.Dally 
 
3.6 ���/������������ก����� 
 
 ���กPก��!"��+�ก*���	���()���*
($��#	� ��'+��
�1*	���
��(.(/����
/*ก�����9�%
����7ก���ก���
�2�ก@����ก 1*	����(.(/����
/*ก�
���2�ก�#/��(��4��
 �����$4��#1��ก��&#ก
�&$4�&��+� ( n ) ��'+��
�1*	���������9�%��()���*
($� (���#�9�4���������ก���
� $�'+��
���+64��
��ก)'	���+���1*	����(.(/����
/*ก2��ก*�ก��&#ก�&��4�ก#�&�� 2�9�4�ก*�����
���	���,�������
�%���ก���&%���@����ก��ก���
�ก#�1*	����(.(/����
/*ก 2��
��&%1*	�����ก*�$����$%���	������
$����$%�9�4��4�ก#�/���1*	���� ��'+�$�'+��
�64��1*	����2��ก*�ก��&#ก�&����
�9�4��4�ก#�  
��'+��2�ก6����$����$%���+�ก*���	����/4��/
��&�4� �
��&%�ก*�����
���	���,����/����#	�
1*	����  �����'+���4�����@����ก��+��ก���
���ก9� 2��
��&%����
��#	�&��&��9��%��
�14�ก#� ���กPก��!"��	����ก�4� ก��&#ก�&
�����1#+�$��� ( temporary double refraction) ���
�����(.(/����
/*ก0*/�	��	 2��8*���������กPก��!"��+�ก*���	��#�ก�4����	 
 
 3.6.1  ก/
��0C��?0;2
��
�� (Stress- optic law) 
  Maxwell 9�%ก�4���4�

�&�#��#
���'�&��4��1*��
%��#	�ก������+�������#1��ก��
&#ก�&2�
#�)#�8"�1*��
%�ก#������+��ก���
����9����$����$%�&�'�$����$���� 0�+�
������������
�7�
�ก��9�%�#���	   
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  ( )3221101 σσσ ++=− ccnn                  (3.10) 
  ( )1322102 σσσ ++=− ccnn                                   (3.11) 
  ( )2123103 σσσ ++=− ccnn                                  (3.12) 
 
  (��      321 ,, σσσ   $'� $����$%�&�#ก��+�ก*���	����/
��&�4���+)*2��!� 

    0n   $'� �#1��ก��&#ก�&����#
���!���+9�4�ก*�$����$%� 
    321 ,, nnn  $'� �#1��&#ก�&���*3�����+�ก*�$����$%�&�#ก 
    ,, 21 cc   $'� 
#����
*�8*�$����$%�����
�  
 

  2�ก
�ก�� (3.10) � (3.12) $'�$���
#�)#�8")'	�-����&�4��$����$%����
�
� &�'�����ก�4�ก����$����$%�����
� (stress - optic law) 0�+�
�����&�$����$%���+�ก*���	� 
! /
��&�4��� : 9�% &�ก
������#�$4��#1��&�#ก���ก��&#ก�&����*3���&�#ก�������ก��
�9�%
��4���7ก/%�� 0�+���ก)*2��!���,��5Q&�$����$%�������� 2 �*/* 2����7����
�ก�� 9�%�#���	  

 
  221101 σσ ccnn +=−                  (3.13) 
  122102 σσ ccnn +=−                                     (3.14) 
 
  ก���#�$4����ก�������
������
�9�%
���ก�*+���	�&�ก�
�ก���#�$4�ก��
&�4��1%�
#�)#�8" 12 nn −   ��� 

 
 3.6.2  ก/
��0C��?0;2
��
��Z2�RJ
��
��ก��>29C��;��8�F8��K 
  
�ก��  (3.10) - (3.12) 
�����2#��7��&�4�&%/*����� n0 9�%�#���	  

 
  ( )( ) ( )21211212 σσσσ −=−−=− cccnn                  (3.15) 
  ( )( ) ( )32321213 σσσσ −=−−=− cccnn                  (3.16) 
  ( )( ) ( )13131231 σσσσ −=−−=− cccnn                  (3.17) 
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  (��  ( )12 ccc −=  $'� 
#����
*�8*�$���
#�)#�8"���$����$%�����
� 
(Relative stress- optic coefficients) ��&�4����,���ก�/��" (Brewsters, 1 Brewsters=10 -13 
cm2/dyn=10 -12 m 2/N = 6.895x10 -9 in 2/lb) 

  1*	����(.(/����
/*ก��+�ก*�$����$%� 2���)�/*ก�����,��64�$�'+�1#+�$��� 
�
��&%
������
�
�ก�� (3.15) - (3.17) ��14���8*���$���
#�)#�8"���ก����'+���.
�1*����

#�)#�8" ∆  ก#�ก������+������$4��#1��ก��&#ก�&����#
����'+��2�ก$����$%�  
 

  ( )2112

2
σσ

λ

π
−=∆

hc                  (3.18) 

 

  ( )3223

2
σσ

λ

π
−=∆

hc                                     (3.19) 

 

  ( )1331

2
σσ

λ

π
−=∆

hc                  (3.20) 

 
  (��  12∆  $'� �������ก����'+���.
�1*����
#�)#�8"��+�ก*���	�������� 12 
0�+�����
��
�2�)�4�9�/���*3��� 3σ  ���/#	�R�กก#������ 12 
4�� 23∆  ��� 31∆  2��8*���9�%
��
�ก���#ก�!������ก#� 
  2�ก
�ก�� (3.18) - (3.20) 2��&A�9�%�4�ก����'+���.
�1*����
#�)#�8" &�'�ก��
&�4��1%�
#�)#�8" ∆  2���
#�
4���1*��
%�ก#�6�/4�����$����$%�&�#ก���
������ก� $���&��
���1*	���� ������6ก6#�ก#�$������$�'+��
�  
  

�&�#�
#����
*�8*�$����$%�����
����
#�)#�8" c ��,�$4�$���+����#
��
���9�4��	�ก#�$���������$�'+��
��R)����14������
/*ก �%�1*	�����ก*�$����$%���14��
)��
/*ก 2��
��&%$4� c 9�4$���+ ���2���	�ก#�$���������$�'+��
� )�/*ก�����	����ก�4� $���
.�E�(.(/����
/*ก (Photoelastic dispersion) &�'�ก��.�E����ก��&#ก�&$74 (dispersion of 
birefringence)   
  ���5Q&�  3 �*/*  
�ก�� (3.18) - (3.20) 2��7ก�����ก/"�1%ก#�$����$%�&�#ก
�#��#�
�� ( '

1σ , '
2σ ) �14������ก#� 

 

  ( )'
2

'
1

' 2
σσ

λ

π
−=∆

hc              (3.21) 
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�&�#��5Q&�$����$%�������� 2 �*/* 3σ  = 0 
�ก�� (3.21) 2����7���,� 
 

  ( )21

2
σσ

λ

π
−=∆

hc                  (3.22) 

 
  &�'������9�%��74���7���� 

 

  1 2

Nf

h
σσ σ− =                   (3.23) 

 

  
λ

σ

π
=

∆
=

2
N                   (3.24)

   
  0�+�กA$'�$���
#�)#�8"���������$���&�4��$��&��+��#P2#ก� 
 

  f
cσ

λ
=                    (3.25) 

 
  (�� N $'�2
����������ก��&�4��1%�����#��%���#��#��������
� 
(fringe order) 
4�� fσ  $'�$4�����
�����#
�� (material fringe value) 0�+���,�$�!
��#/*���
�#
����+��	���74ก#�$������$�'+����$���&�����1*	���� 
  2�ก
�ก����+ (3.23) 
�����&�$����/ก/4�����$����$%�&�#ก���$4�
$����$%��R'��
7�
��9�%��ก�!�ก����
���� 2 �*/* 
������7%$4�2
����������ก��&�4��1%����
�#��#���#��#��������
� ���$4� Material stress fringe value 0�+�����$4�9�%2�ก$�!
��#/*
����#
����+67%6�*/�&%&�'�&�9�%2�กก��
�������  
  �%���ก����
��1*	���
��(.(/����
/*ก0*/�	 ��,�ก����
��ก���'�&��4�
�1*��
%� $����/ก/4�����$����$����&�#ก 1 2ε ε− 
�����&�9�%(��ก���#�ก���ก*����$4�
$���&�4��
#�)#�8" 2�9�%$���
#�)#�8"��&�4��$����$%����$����$�����#���	 
 

  1 1 2

1
( )

E
ε σ υσ= −                   (3.26) 
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  2 2 1

1
( )

E
ε σ υσ= −                   (3.27) 

 
  ���$4�����
�ก�� (3.23) 2�9�% 
 

  1 2 1 2( )
1

E
σ σ ε ε

υ
− = −

+
                 (3.28) 

 

  1 2( )
1

Nf E

h
σ ε ε

υ
= −

+
                 (3.29) 

 

  1 2

Nf

h
ε ε ε= −                   (3.30) 

 

  1
f f

Eε σ

υ+
=                   (3.31) 

   
  ��'+� fε   $'� Material strain fringe value 
 
  ��4��9�กA/�� �#
��(.(/����
/*ก0*/�	��+��$�!
��#/*��,��#
���&�����'�&��4� 
(Viscoelastic) 9�4
������1%
�ก����+ (3.31) 9�% 
4��ก���
������(.(/����
/*ก0*/�	9��1%��ก��
&�$4�/#����ก��$�����%����$����$%� 2�ก�4������/4� : 9� 

 
 
 
 


